China Practice Questions

1 Base your answer to the following question on the
cartoon below.
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Source: The Finger Lakes Times, May 27, 1989

The main idea of this cartoon resulted most directly
from which of the following?

(1) Long March and Mao Zedong's Chinese
Communist Revolution

(2) government response to demonstrations at
Tiananmen Square

(3) Deng Xiaoping's Four Modernizations

(4) the Great Leap Forward and government plans to
industrialize China

2 What effect did the Opium War and the Treaty of
Nanjing have on China?

(1) Chinese Nationalists increased their influence in
rural areas.

(2) The Manchu government expelled the Western
powers.

(3) China was divided into spheres of influence.

(4) China adopted a democratic system of
government.

3 One reason the Chinese Communists were able to gain

control of China was the support of the

(1) peasants (2) landed elite
(3) foreigners (4) warlords

4 In China, Deng Xiaoping’s Four Modernizations led to

(1) adecrease in industrialization

(2) a decreased interest in investments by foreign
businesses

(3) anincrease in the emphasis on collective farming

(4) anincreased use of free-market practices

5 - Boxer Rebellion
- Solidarity Movement
- Intifada
- Shining Path Movement

One action that is common to the groups involved in
these events is that each group

(1) strengthened its ties with former imperialistic
powers

(2) established international terrorist organizations

(3) used political demonstrations or revolts to bring
about change

(4) created religious unity in the group’s nation

6 The gathering at Amritsar (1919), the rallies in Soweto
(1976), and the demonstrations in Tiananmen Square
(1989) directly resulted in

(1) rejection of Western ideas

(2) promises of economic reform
(3) movements toward democracy
(4) violence against the protesters

7 The Cultural Revolution in China was Mao Zedong's
attempt to

(1) renew the ideas and enthusiasm of the Communist
revolution

(2) increase the industrial output of China

(3) promote artistic exchanges with the United States

(4) encourage foreign investment in China

8 A common goal of the Salt March in India, the Boxer
Rebellion in China, and the Zulu resistance in southern
Africa was to

(1) overthrow totalitarian leaders

(2) force upper classes to carry out land reform
programs

(3) remove foreign powers

(4) establish Communist parties to lead the
governments
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9 The Long March is significant in Chinese history
because it

(1) ended Japanese occupation of China

(2) reinforced the concept of the Mandate of Heaven
(3) caused the Boxer Rebellion

(4) established Mao Zedong as a revolutionary leader

100ne way in which the Great Leap Forward and the Four
Modernizations are similar is that each was an attempt
to

(1) increase farm and factory output
(2) develop a democratic government

(3) strengthen economic ties with communist
neighbors

(4) reduce the gap between rich and poor

11 In China, the Revolution of 1911 and the
demonstrations in Tiananmen Square in 1989 were
similar in that each event

(1) succeeded in overthrowing the existing
government

(2) resulted in foreign military intervention

(3) sought to bring about democratic reforms

(4) made land reform a major goal

12 During the 1840's, China signed "unequal treaties"
with Western nations mainly because

(1) China had won the Opium War
(2) Western nations had superior military technology
(3) leaders in China favored expansion

(4) China had requested economic assistance from
the West

13 During China's Cultural Revolution, a major goal of
the Red Guard was to

(1) revive traditional loyalty to the emperor

(2) promote trade and free enterprise

(3) enforce the teachings of Mao Zedong

(4) encourage cooperation with the Soviet Union

14 The Boxer Rebellion, the Salt March, and the Iranian
Revolution were reactions against

(1) Mongol rule

(2) rapid industrialization
(3) Western influence

(4) economic depression

15 The Sepoy Mutiny in India, the Boxer Rebellion in
China, and the Islamic Revolution in Iran were similar
in that they

(1) restored power to the hereditary monarchies

(2) attempted to reject the traditional cultures in
these countries

(3) resisted foreign influence in these countries

(4) reestablished the power of religious leaders

16 What was a direct result of the Four Modernizations
introduced in China by Deng Xiaoping?

(1) Freedom of speech was guaranteed.

(2) Goods and services were evenly distributed.
(3) Economic opportunities were expanded.

(4) Fewer consumer goods were produced.

17 The philosophies of Confucius and Mao Zedong both
emphasized

(1) individual rather than cooperative gain

(2) industry rather than agriculture

(3) group rather than individual welfare

(4) religious values rather than economic profits

18 The goal of Mao Zedong's policy known as the Great
Leap Forward was to

(1) develop foreign export industries in China's
coastal urban centers

(2) eliminate state-owned industries in rural China

(3) modernize China's economic system by dividing
China into communes

(4) introduce capitalism to the Chinese economy

19 By the late 1970s in China, the growing size of its
population influenced the government's decision to

(1) encourage people to migrate to other countries
(2) force families to work on communes

(3) engage in wars to gain territory

(4) institute a one-child policy

20 Rapid industrialization in developing nations has often
resulted in

(2) little growth in urban centers
(2) decreases in the levels of pollution

(3) the continuation of traditional ideas in the
workplace
(4) agrowing gap between the rich and the poor
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21 Base your answer to the following question on the graphs below.

China: 2000
Male Age Female
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Population (in millions)

China: 2050
Male Age Female
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Population (in millions)

Source: U.S. Bureau of the Census, Intemational Data Base (adapted)
In 2050, which concern will the Chinese government have to address as a result of the shift in the
makeup of its population?

(1) military defense spending (2) production of consumer goods
(3) needs of an aging population (4) education of young people

22 One way in which the Tiananmen Square massacre in | 24 In 1989, the government of China responded to the
China, the Amritsar massacre in colonial India, and challenge of protests in Tiananmen Square by
Bloody Sunday in czarist Russia are similar is that they (1) halting trade with the West

were ; : i
N (2) allowing democratic elections
(1) government responses to citizen protest (3) sending in tanks and troops to end the
(2) pro-Communist demonstrations against demonstrations
government policies (4) calling for a special session of the United Nations
(3) protests against the imperialism of foreign Security Council
nation . .
4 ?t 0 St by the military t throw th 25 Which statement best describes a result of the student
(4) attempts by € military to overthrow the demonstrations in Beijing's Tiananmen Square in
governments in power 19897

23 In 19th-century China, the Opium War resulted in (1) Pro democracy protectors were successful in

(1) the control of Hong Kong being returned to achieving their goals

China (2) A state-controlled education program was begun.
(2) the removal of all British naval forces from China (3) The government further restricted freedom of
(3) an increase in European spheres of influence in expression in China.

China (4) Collectivization programs were started in China.

(4) the rejection of Buddhism by the Chinese people
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26 Base your answer to the following question on "the cartoon below and on your knowledge of social

studies.

In this 1989 cartoon, the cartoonist is expressing the view that

(1) students hunger for the writings of Mao, Deng, and Marx
(2) China's Government is meeting the needs and wants of its students
(3) China's educational system attempts to maintain Communist ideology

(4) Communist ideals have eliminated poverty

27 » Opium War (1839-1842)
» Taiping Rebellion (1850-1864)
 Boxer Rebellion (1898-1901)

This series of events is most closely associated with
the

(1) spread of communism in China and Korea

(2) growing concerns about the influence of the West
in China

(3) alliance formed between Vietnam and China

(4) increasing expansion of civil and political rights
in China

28 Nigeria's economy has relied on its oil industry to

create jobs. When world oil prices dropped, their

economy collapsed. This is a problem primarily caused

by

(1) global interdependence

(2) self-sufficiency

(3) overpopulation

(4) political instability

29 Which statement best describes an effect of the Opium
War on China?

(1) The British expelled all Chinese from Hong
Kong.

(2) The British victory led to spheres of influence in
China.

(3) The British ended the importing of opium into
China.

(4) The British established a parliamentary
democracy in China.

30 One important impact of the Mongol expansion across
Asia and Europe was the

(1) increased authority of the Kievan princes

(2) rise in trade along the Silk Roads

(3) introduction of Hinduism into Chinese culture
(4) maritime exploration of the Arabian seacoast

31 Which nation had the greatest influence on the recent
histories of Taiwan, Hong Kong, and Tibet?

(1) India (2) South Korea
(3) China (4) Russia
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32 Base your answer to the following question on the cartoon below and on your knowledge of social
studies.
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The main idea of this cartoon is that Deng Xiaoping will be remembered most for the

(1) destruction of Western art (2) bloodshed in Tiananmen Square
(3) preservation of Chinese historical sites (4) adoption of a capitalist economy

33 What is the correct chronological order for this set of 35 One similarity between the actions of Mao Zedong,
events in Chinese history? Adolf Hitler, and Pol Pot was that they all used
A C_ommunlst Revolution (1) military force to build colonial empires
B. Tiananmen Square Massacre . .
C. Return of Hong Kong to Chinese rule (2) free and open elections to gain power
D. Opium Wars (3) communism as a basis for their governments

1) A5DoBoC (2 BosAsCoD (4) intimidation and terror to control people
—-D—>b— —-RA—-0C—
(3) D»A—B—C 4 D-B-C—A 36 An_immediate r_esult of the Cultural Revolution in

China was that it
34 A major cause of the Tiananmen Square _ ' _
demonstrations in June 1989 was the (1) helped to establish democracy in urban centers in

China

(1) influence of Western ideas on university students (2) led to economic cooperation with Japan and

(2) memories of the Japanese invasion of China South Korea
(3) teachings of Confucius (3) disrupted China's economic and educational
(4) Chinese tradition of youthful rebellion systems

(4) strengthened political ties with the United States
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37 Base your answer to the following question on

the map below and on your knowledge of social studies.

The Mongol Empire 1300
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Source: H. Braun, L. Ferman, H. Brodsky, Reviewing Global History and Geography, AMSCO

(adapted)

Which statement is best supported by the information on this map?

(1) By 1300, the Mongol Empire had reached the Red Sea.

(2) The Mongol Empire controlled India and Japan by 1300.

(3) By 1300, most of Europe had been conquered by the Mongols.
(4) The Mongol Empire controlled a large portion of Asia by 1300.

38 "It doesn't matter if the cat is black or white as long as
it catches mice."”
—Deng Xiaoping

In this quotation, Deng Xiaoping implies that to
achieve success, China should

(1) adhere to strict Marxian socialism

(2) continue Mao Zedong's elimination of Western
cultural influences in China

(3) establish a policy of mercantilism

(4) use whatever means necessary to improve its
economy

39 The Boxer Rebellion and the work of Sun Yixian (Sun
Yat-sen) are most closely associated with the

(1) Long March

(2) Golden Age of China

(3) Cultural Revolution

(4) rise of nationalism in China

40 The Great Leap Forward in China was an attempt to

(1) introduce democratic principles of government
(2) reduce the power of the military

(3) increase agricultural and industrial output

(4) remove restrictions on emigration
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41 Base your answer to the following question on the passage below.

When | was young, the Chairman promised us all food. He promised that we would never go
hungry again or be without work; my family was led to a village where we became members of a
production team. We worked hard, long hours but we were fed every day. The commune prospered at
first, but soon people did not meet their quotas and we did not increase our production. We all
received the same amount of rice; it didn't matter how much work we did. With the new Chairman,
things are different in our village. The government has given us plots of land to work as our own,
though | still put in time as a commune worker. We can now keep the amount we produce above the
quota set by the government. This has made most of us work harder and the government quotas are
being met for the first time.

—Conversations with a Farmworker (1986)

Which of the following leaders is most closely associated with the change described in this passage?

(1) Deng Xiaoping (2) Joseph Stalin
(3) Chiang Kai-shek (4) Fidel Castro

Base your answers to questions 42 and 43 on the
cartoon below.


































